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Luics(h g Cauadst(hb. LiLAIE6T cuadTaidDid Quistrfleb Lucir(bSSHYLD:
. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.

[nstructions : |

2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
@iy : Belelenundgnar prcig LgSsaand, Qurele gi.
Note : This question paper contains four parts.

@S 1 /PART 1
(wBOQueimasr : 14) / (Marks : 14)
@O 2 (i) ewardg 14 affenndsend@n edan. wefldsajih. 14x 1=14
(if) Qarpdani Barer  mrabig wipry efesailss  Wsad Guimpdsionen  ofla auwrg
Caiols(bds @l (e o ellanr uleanuid Goida erpaan.
Note : (i) Answer all the 14 questions.

(i1} Choose the most suitable answer from the given four alternative and write the option code
with the corresponding answer.

1. (i) wa o2& Guri Glaug S50uTE B)FETeS BHBlemstenw uelé@is BT_rs S b5
() @euiGlsirsusiy genid) 2 1 sringsamsulls) Gesred Glurio qm;rr,_f,pmml_ﬁ@@_
{iil} G&Fsure 2 i srLngsbens Bldsreduj obr maLwQSEL (L gy,
(iv) APw @)L ruserrar Ceorevy, Dpsodlfwr,
@b TadldE wmssul L g).
(=) (1) opmue (i) =y Slwsor el () (ii} &
(@) () = (%) (), (i) s (v) sy flurenr o
(i) ltaly remained a neutral country when the world war broke oyt

(i1) Italy was much disappointed over the peace settlement at Versailles
(ii1) The Treaty of Sevres was signed with Italy.

CsH® DLBrréd GureTpepeaus gt

(1v) ltaly was denied even small places such as Trieste, Istria and South
(a) (i) and (ii) are correct
(c) {iv) is correct

Tyral,
(b} (i1) is correct

(d) (1), (3ii) and (iv) are correct
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2. yreivl Caragri wrgen i wpiphein?

(o) urird Buwdaio () Syedari Gussid
(@ TTLoal 5 sig sanTT Blussn (m) glrrail warger Fomu
Whose voice was Rast Goftar?
(a) Parsi Movement {b) Aligarh Movement
(c) Ramakrishna Mission (d) Dravida Mahajana Sabha
- Bougr Yol As@ Reir oy ssvsraflar wasara sik@ eiCnOUL L Tiasr?
(o) ssvamgsT (<) aptosmri (@) elsvad (%) o T
Where were the sons of Tipu Sultan Sent after the Vellore Revolt?
(a) Calcutta (b) Mumbai (c) Delhi (d) Mysore

. Qsr@EsOul_(ersm s hay wHmuh STrewsHnsTer sflurear aflami snw HenL W TemD

&IT6OIT .

saHp): sridlrev oyemuderma 1939 myn yean® ugal allwsug).

ETTEWILD] FTRIHZITEN HjewoFFTemsusnut K BTHlssrwe @hdlwralsr srsvet! HElEs Hre

Guirflsh uaIBsD et

() & pmy DD Sryennd @raar@ip sflurengl, QAT STTETD S DRESTET FFUITEST
sulerssin Blsvensy

(1) Doy sdwrsTs QETT) STy Hounirarg

(@) Sy wHpd stvawt GrarGGio sauprarg)

(%) smpmi wHpnd sroewTe  Foaweid  FTlwrerg), STreD S pmibsrsw  Fhlwmer
afler & LmEL

For the given assertion and reason, identify the correct answer.

Assertion (A): The congress Ministries resigned in 1939,

Reason (R): The Colonial government of India entered the war ‘without consulting the
elected congress Ministries.

(2) Both A and R are correct but R is not the correct explanafion
(b) A is correct and R is wrong

(c) Both A and R are wrong

(d) Both A and R are correct and R is the correct explanation of A

. Claanemen s SHEHW TN 2 FWAINTSSID FSUTHTS WWETMW SedivdHauiT wri?

(o) srorrggt (@) (@)K shprerd (%) T. uiraren
Who setup the Satyagraha camp in Udyavanam near Madras? :
(a) Kamaraj (b) Rajaji (c) K. Santhanam (d) T. Prakasam
. U BiéghE WOHDID wWeTaTTT CuemeTGLIT __ BbSurall 18mmhass UM&dmg.
(21) Goraur (1) Gumew sudisremib (@) @avirens () Lreudd ey
The Palk Strait and Gulf of Mannar separates India from
{a) Goa (b) West Bengal {c) Sri Lanka (d) Maldives
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7.

10.

11.

UGeESTHDY STHSET El6ueuTn) Spemipdss i Balssrper
(B1) D{UWIAT LT LIS WILOT DTS ST (Hd60

(91) @enewglis srser

(@) wrkgGrréu srdser

() wemaESTHEET

The Monsoon forests are otherwise called as

(a) Tropical Evergreen forests {b) Decidious forests

(c) Mangrove forests {d) Mountain forests

@hAu e ugd B)Hioy b O riflaatisEndr Gt SjenwBSETeT Fi D
(o) OQarevmdar (&) grsgsen (@) Sarour (%) eflsraiuL g e
One of the shore based steel plants of India is located at

(a) Kolkatta (b) Tuticorin {c) Goa {d) Visakhapatnam

. wria@GSrre sSTEHEE LTFIETILS)

(&) sLpasord ugdlssmer s OO mhg (o) vaer' UrampsmsT

(3)) sL_Beorr Lsblsustlgsner (") EmatwenaTHEID

Mangroves protects

(a) Coastal area from erosion (b) coral reefs

(c) sea grass meadows {d) all these

QaTEsEsIUL_BreT Suhmy wHmh STrausdpsrar FRLTRT i@t sow] SEHLWTHNLD
HTET S,

Fn M. Heodlf suhppm_yer GonbHs mésﬁsirté;g:rmé QareiTL wreul L 1b

sTrewh. &g sllpnr g6t Quhd uGSule HyTobIcETS.

(21) Snidry woDmHd HTrsRTD E)Tsr@ib 17 Sryed s b allsrdGA D!

() Fn D@y WHYILD STTEWID &) YEUTTE) ST TERTLD Fn HOYSSTET Fllaireur affené i LT
(@) iy #fl eTITsd STTENTD SHoum

(F) snpmy sroemrd Breir@id eum

For the given assertion and reason, identify the correct answer.,

Assertion (A): The Nilgiri is the least populated district of ¥amil Nadu.

Reason (R): It is located in the Western most part of Tamil Nadu,

(a) Both A and R are true and R explains A

(b) Both A and R are true but R does not explain A

{c) A is true but R 15 false

(d) A and R are false

@hdu wrivkselar smesmar wrpflumwsgd IFsrre  Gupmerni/ Qupm
SYEOILIL].

() SUwrs Semvsvsur (<) Ursw gemwsei
(@) wrdley Hrerwisn (/) BrL_TEmiosiTm
Who has the power to alter the boundaries of States in India?

(a) The President (b) The Prime Minister

(c) State government (d) Parliament



12. Ufl&en sjemwiflsr ssnoentowsn sTii@ HyeoL0bSIsTors:?

() Levrr () Teipuwir (@) V@ydlev (%) @pgwr
The BRICS Organisation’s headquarters is in
(a) China (b) Russia {c) Brazil {d) India

13. sybmassafon _Gus oo 1 5551 GOOUTH HravmiiLBasneTear HoldDluer
(o) Blrss Garens (=) srami_d @eomey @) wevaleri () @ ewanusnaTsg
Indicator of nutrition deficiency among children is
(a) anemic (b) Under weight  (¢) weakness (d) all these

14, dstau@mausmaupiisy Corsd Qsmifinsrsnsssr Garss 61617
(@) rrefliiGu e () siwyf (@) spibyT () eumsmfiwitbuimy
Which one of the following place does not have leather factories?
(a) Ranipet (b) Dharmapuri (c) Ambur (d) Vaniyambadi

LG 11/ PART II
(ofii@usirser : 20) / (Marks : 20)
@BILiL : (i) sraveuBuighid 10 affeondaemde o (b aften wafldaayid, 10 x 2=20

(i} 28augy Memmalihg .1 muona efent weflds Cavetr(pid.
Note : (1) Answer any 10 questions .
(i1} Question No. 28 is compulsory.
15. @raremd 2 sOBUTAL LLSTURSSOUL L TTEmis SaTQUITL ST Tensy’?
What military equipments were used in the second world war ?
16. wsflaf CsBubreTsd sremi Wearemass puUiGemasullsr Brarg smmosamers GHUGs.
Mention the four articles of faith laid down by Maharishi Debendranath Tagore.
17. grsflwseureor urd LGSR UHD] ailsyFissayib.
Describe the Jallianwala Bagh Massacre.
18. Wsardsaflar umsellioou Ul yuwsiiGs.
List out the contribution of Moderates. .
18. @t &6 Soyd gl L Bsst HHY TS5,
Write a brief note on Lakhadweep islands.
20. ‘uganosnyp Gleutg iy sTeTMTEY sTeiTear?
What is ‘burst of monsoon’?
21. s Bppriger srmamearnd GHluUBs.
State the boundaries of Tamil Nadu.
22. uPSEL GIFTL (HHSG St L Lh TTHIE 6TEHTET?
What is MRTS?
23. Qusvwpampuf B FHleusnruenm sTTHT) sTsiTen ?
What is Appellate Jurisdiction?
24. vrPe gyEnBTler phdlwhgieutd sTeirsar?
What is the importance of the Governor of the State.
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25.

26.

27.

28.

FuADTT GULBSESST WiSlwSgimbens w1 NG s.

How do you assess the importance of Chabahar agreement?
o ST SEHEOST HpaiTm B sneard n.mis.

What are the three stages of globalization?

Qgmiflsy ((pemsv sy ST HTEY sTEITSr?

What is Entreprencurship?

@bgwralsst péslw QusT@urker soowfissr wreneu?

What are the main software centers of india?

UG 1L/ PART 111
(S OGuamas : 50) / (Marks ; 50)
@By () ermaGuigh 10 e daenda wl (B oL wefidsais. 10 x 5=50
(i) v2eugs aflemnallivg & Lmuons eflaor_weMde Geuast(BLd.
Note: (i) Answeranyl0 questions .
(i1} Question No. 42 is compulsory.

29. Quirmsgs:
(1) SmeumLmr - 1962
(if) Qsshremaraurflmsr stasd -  sfeusmrmeswls LT SsT
(iil) Srrali @svsvin - molurer
(iv) Gsfw usrBlens - Hggraieng g snarwd
(V) afllussiteleer apenm - BEL e
Match the following:
(1) Thiruvarutpa - 1962
(i) MNA - songs of Grace

30.

31.

(i11) Dravidian Home Japan

(iv) National emergency

Torture Commission
(v) Shinkansen system - Natesanar

() Camiu@sas.
(1) -pywistr WFIL 0 UKD LIHTE BT (HEHET wHQD @lewsOw ST ST@ ST
(i) 55 varL sid whynb Heirsogmr oo s
() STTERTD S Q& Sy TniuseneT afl QumBETRISaAL wsser Cgrena 6\BHpeasin TEAE A
(a) Distinguish between
(1) Tropical Evergreen forest and Deciduous forest
(i1) Print media and Electronic media
(b) Give reason: Cities are densely populated than the villages.
unflerv yemwd) wrpHrL 16T 1pigsymeir sTeuauT M MSsredluitey Lirden @areiTm STremTiors
D hpen 7
How did the decisions of the Paris Peace Conference cause for the rise of Facism in |t

aly?
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32.

33.

34,

35.

36.

37.

38.

39.

40.

1857 gyib gy wwmig it dlenirdAasran srravise whHmb e alemearaysdr GBlsg allflaurs
DT TWweyLh.
Discuss the causes and consequences of the Revolt of 1857.
S e iddEE wapwma s ophiin LkiElsear aflarsgs.
Explain the role of Maraimalai Adigal to the Tamil Renaissance.
&BIens DM g Blson GHilss alfiurs srupds.
Give a detailed account on the basin of the Ganga.
@nglw efleusTullast afisQsrirannd gCsb mbg (PES FOTOEMN TIPS,
Write any five major issues faced by the tarmers in India.
wesfls suemr Guiburlent gearali@ib qpepmenw aflarsgs.
Explain the process of Measuring Human Development.
BpSw Figwsaflsr Sglumi_§ sLsnwsmars GOIUIGS?
What are the fundamental duties of a citizen?
Qeneflymeyd Basrarensulsnar BrenrulléEin O ILML_& GTTaIEISST WTsHs 7
What are the core determinants of a Foreign policy?
GDP enw sardSBid (peomaser wirensn? ensuseanen allanfl.
What are the methods of calculating Gross Domestic Product? Explam it.
QumperrgTy (s Bsarpmidler suflafigliiilar unislame allonrdEa.
Explain the role of taxation in economic development.

SO uritensy wrhnsHnerrell wreRToITHar HTSCETH WHNID suenruL-GHlev WwenpGuw

Bapaysmerwip @ issmeryn GO Gé srlBagne udars Seupspl uhHpiu
GPIyssT L BID 6Teps Ceusta(pid.

Note: Visually Challenged Candidates have to write only notes for the questions related to Time

a1.

42.

Line Chart and Map
LipsramuaTabiing sTsCHTE aenTs.
1910 gpgev 1930 ausmiyullsomssr gobs wWHalw ﬁ&ysqesmar STVSECHTL 196D 6TUPHIS.

Draw a time line for the following:
Write any five important events between 1910-1930.

@i UL AR EYbaranid G s GGy,
(i) goreSwietr surerLITd

(ii) Gragr

(iii} ur i Ggred

(iv} surirgm

(V) @&Fsmif) Glaarmmr

Mark the following places on the India map.

(i} Jallianwala bagh
(ii) Kheda
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(iii) Bardoli 10th Social science
(iv) Wardha
{v) Chaurt Chaura

L& [V / PART IV
(fOQueawrasr : 16) / (Marks : 16)
@D : () By allevr & @@, eleoL wefldsan. 2x8=16
Note : (i} Answer both questions .

43. oCrrinfwé g upuwip steusurr mGrri iy Glenameurangy stehrp aureTHedD sTHSH W DYSE.
Narrate the history of transformation of council of Europe into an European Union.
(syevsvgr) (OR)
(i} usrarm Q& srussdear Corialssrer &rramisamsr GO Ips?
(i) Y95 B BT QBT FysmLw HenhETH Gt Gss Klapaysensr sragge?
(1) Specify the reasons for the failure of the League of Nations,
(ii) Write about the battle of Kalakkad related to Puli Thevar.
@MY | urirensy wrHmG S merrof) omentoui ssn susHILL S0 @t Kisemer @CLll_ (D
ST BeughE udlars Sfsupsnmr LHailu @ﬂﬂqﬁsir Wt T SsushmBin.
Note: Visually Challenged Candidates have to write only notes for the questions related to Map.
44, QsrBEssiur Hsirer BsHw auemruL g dlerarmeuamapenn giléaseayo.
(I} prouedadl wenswsE T '
(i) BrwgT pumy
(iii) 2yF® wempGlugte LgH
(i) g7 Gurgi oyemer
(v) Glesirensar
Vi) Lmsg) elemaryic §m LG ’
(vii) urensvsuaTs SrHSH
(vill) @BAwraller wrerdssvei
Mark the following places on the given outline map of India.
(i) Aravalli Range
(1} River Narmada
(1i1) An area of heavy rainfall
(iv) Damodar dam
(v) Chennai
(v1) An area of cotton cultivation
(vii) Desert Forests
(viii) Manchester of India
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(orsowgr) (OR)
QerBhaiu Parar pifpa sumsuL pAa Sdrawpaataupemn @Blssa)ib.
() okt & e
(0) uraregy
() ol B yamaar
(V) vcopawdn ugd
V) uad g ailwayn padw ved
(W) sagdagori syt
(vil) Secrmaral i aghas 0gims wens Dedgite ardranf
(vil) myrilda &
Mark the following places on the given outline map of Tamil Nadu.
(1) Nilgiri hills
(i1) River Palar
(i) Mettur dam
(iv) area of mountain soil
(v) Major Cotton growing arca
(vi) Sathnyr dam
(vii) Air route from Chennai to Madurai
(viii) Arsbian sca




